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- GENERAL INSTRUCTIONS TO THEEXAMINEES :

(1) qﬁanﬁﬁéw:r Hﬁm}%(m AR R |

"zl‘ﬁ“

Candidate g ‘z%vr\?ie first his / her Roll
(2) aft v FE st

No. on the question paper compulsorily,

All the questions are compulsory.
3) mmmmd’mﬁw—gﬁfﬂﬁﬁﬁw@ I

Write the answer to each question in the given answer-bopk only
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4) ﬁquﬁﬁmﬁmm‘é,mw%mwmﬁﬁé l

(%)

(6)

For questions having more thap One part, the answers to those parts are to be written
together in continuity. -

If there is any error / difference / contradiction in Hindj & English version of the questiOﬁ

Paper, the question of Hindi versjon should be treateq valid.

maﬂm%@ﬁﬁujmwmm%él

Write down the serial number of the question before attempting it,

<
&S — 37
SECTION = 4
9 gfehedt 1 ¢
Multiple Choice;Questions = |
A “%\*«\J_'“'J
() e frefe g 3
i 47
() fg L@y ey
(W) nerg gy 1 & Y
Deletion'in Queye happens at : .. 1k s
(a) Rear (b) Front
(c) Middle (d) None of these
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(if) 79 79 B W1 SA0TE B R S v mieeer 6 ol 7 frerdt -

(31) 3.30.T%. g (@) R
(@) smma IR (7)) Mk

Which of the following exceptions occurs when the requested module definition is

not found ? 1
(a) EOFError (b) TypeError
(¢) ImportError (d) NameError

(iii) ﬁqmwnﬁmmm%
(31 & | - (8) W=

(|) ity (3) g

Average of given values is cg @% @ 1
.(a) Range @? \3 (b) Mean
(c) Median (d). -Mode

(iv) P13 2 fore v o e e A AT SRS T 35 9 B herd 35 o P
ST R 7
(31) <a> (S <atglfE
() <+r> | (%) <TB>
Which of the following mode is used to open a file in binaty and read only mode ? 1
(a) <a> (b) <at>
(c) <+r> (d) <rb>
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(V) TS 915S & T i b o 3 fpey e o 2 | |

(31) 1991 (&) 1989

() 1992 () 1990

3
World Wide Web invented in the year 1
(a) 1991 (b) 1989
’ ©) 1992 d) 1990
(vi) FEFd R @ oL o
(31) B @) g
@) = L () Ay r
Which of the following is fiet a data structife B 1
(a) - Stack (b) Pusl;
(€) -Queue (d)“i‘};)ne of these
| (vii) amwﬁ%aﬁaiﬁmmmwsﬁm%
() g A R
(®) Po-getem () ¥ 2 5 oy
Unidirectional Communication between two devices jg . 1

(a) Half-duplex () Simplex

(c) Full-duplex (d) None of thege
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(viii) @ T8 amena () # A N Te ghifvad wecht § T wiem & wuft wm oo € ¢

(31) fewice (¥) dieaa

, (w) I (3) e B
Which of the given constraints ensures that all the values in a column are distinct ? 1
(a) DEFAULT (b) Not NULL

(c) UNIQUE (d) PRIMARY KEY

(ix) fereht fectem (anfirenT) o 21 o wedies dfeRT 1 el ST 8

(31) wege (@) feht

i} 2 s

o
S W8

S W {6
4 3 “

Each row of data in a relation (table) is called : . " 1
(a) Attribute (b) Degree.
(¢) Tuple “(d)  Cardinality

Fill in the blanks :

(i) DDL =1 qU 9™ BIATR |

Full name of DDL is T . ‘ 1
(i) ! Ufert b1 o1 (Tail) 3 &9 7 i ST ST € |
is also known as a Tail of a queue. 1
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(iii) T ufek/Repis 1 ffie &9 & wew & Rorw FR 1 ST R T

HHAT 2 |
To uniquely identify each row/record constraint can be used. 1 | .;.
(v) o 1 e g 2 w0 P TR | 1
Insertion of an eleﬁent is always done at the of the stack. 1
SAlCTeRTeR e -
Very short answer type questions —
(i) ZorEFH qﬁmﬁﬁa T |
Define Data Structure. 1
(i) RFEFMEAR ? !
Whatis Stack ? . 1
O O R S
What is an excep‘tlox/fm I;ython i 1
() S
What is database schema ? 1
(V) SQL %1 3t ferRaw |
Write uses of SQL. 1.,
(vi) SR 7
What is Deque ? i




W
(vii) FH FIFOF1 2 ?
What is FIFO in Queue ? :
(viii) e TS RSfei # T S o B 7 |
t
What is access mode in Python file handling ? e 1
g -9
| SECTION - B
4. Tl 6 Tafififa sraaret & am frfaw |
Write the names of any 6 built-in excepti.mg;“ e ﬁ ﬁm*?%% 1Y%
FF\WV- S
5. &% % PUSH( ) T8 POP( )wﬁ‘é%aﬁa FHa ferfag |-
Write the differences between PUSH( ) and POP( ) functions of stack. 1%
6. 3 et o s irt 5 o e A e e
Write a function of Python to find the ﬁumber'of cleme;nts in the queue. 4 1%
7 ﬁwﬁéwaﬁgﬁ@amaﬁma% ?
What dd you understand by Bandwidth of a channel ? - 1%

g, URbay ey ot gieTiva shifsie |

Define Postfix Notation. 1%

[ Turp over
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9. WHH MR- FIEAL 7

What is Overflow in Stack ?

10. éamqﬁaﬁmémwmﬁ%?

What do you understand'by Data Inconsistency ?

11, et T Yeass = S 2 7

What is Local Area Network ?

12. R wrger Sefim # writelines( ) e 72 7

What is writelines( ) method in Python file handling ?

o A Y

13 STert (Primairy) <h e ST 2 7

"

What js Primary;;Ké’yr?

L85
|

14. (A~B) » (C + D) B fiftrre T RgA & e |

Convert (A — B) * (C + D) into Prefix Notation.

15, mﬁmﬁqﬁ%mﬁm%ml

Write differences between Wired and Wireless Media.

95'03 (Comp. Sc.) (Opt.)
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gig -4

SECTION - C

V16, P sifi & feoh fifien
() e
(i) BT H
(iili) et H
Write short nolte on following :

(i) Candidate key

(i) Foreign key .k
(iii) Alternate key & é@ e

17, W:ﬂﬁ‘(‘;ﬁ

EXPIain Bus and Tree topology using neat diagram.

18. ﬁtlﬁﬁﬁga =} gy T :
() ryame gefem
(i)  w Frqere HH T
(iil) T 3verg geHST
Define the following :
() Exception Handling
(i) Throwing an exception

* (i) Catching an exception

[ Turn over

SS-03 (Comp. Se.) (Opt.)



10
glg -1

SECTION-D

19. T=feafaa Sri & foe e s fafa -
(i) el ¥ =M |
(i) 39 W U T T ST (STeM)
(iii) Wﬁﬁﬁ@ﬁﬁﬁm
Write a Python code for the following tasks :
(i) Creating an empty stack

(i) Insertion of an element in that stack

(iii) Deletion of an element from th_aj:;s'tgck

FYEr/OR

s
AR N

T ST} B ferea & H@EQ |
Explain the applications of Queue in detail.
€

20. Wﬁﬁmw%@()ﬁm()%ﬁw‘m%ﬁﬂmm(%)
& IR i |

Explain dump( ) and load( ) method of pickle module in Pythop, Give

Suitable syntax and
example for each.

ayar/OR
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mmmﬁmﬁW%m@Wg@wmlw%m(w)m
@%@ﬁ%(w)ﬁgﬁw%rf@g@ @ﬁ@ -

0 create a text file and to write data in it. Write difference

\
Write a Python progﬁn t

"? between appénd and write mode of 2 file.

P
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